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R ernre) | f | % eams |[ECERC =
RE i | REE 1.7 1.5\ .48
RE " (RE%E 18 1.8
e # |mREx 1.3 1.4|%8, &
RE £ | B8 1.0 11.0#= 48
RE i | REE 3.0 3.0[#, A
RE & | RieE 3.9 3.9\ 48
RE - [BERE 3.8 44|88
REE - [fEE-FEKR 3.3 33
RE f = 1.4 1.4

& 2.9 2.9
RE - |REEE 0.5 0.4|48,#8, A
RE & | RiesE 3.2 4.5/#48
Z0Dih BHERE 15 1.5\, 75
Z Dt #HERE 49 4.9(#2,38
ZDith EEE 0.7 0.7|#,48
ZDfth HERE 3.1 3.1
ZDfth RE5E 0.4 0.4
ZDith B 2.1 RIEAS
ZTDfth Frx 1.2 1.2
ZDith Z Dt DIEM 15 15
ZDfth RE%E 1.3 1.3\, 48
Z Dt e EIE] 12 1.2
ZDfth B 1.3 1.3
ZDith B 0.2 0.2
ZDth RE5E 1.0 1.0
Z Dt e EIE] 1.6 1.6]42,48
Dt Frx 1.0 1.0
ZDfth HERE 1.0 1.0
Z Dt #HERE 0.3 0.3|#2,48
Z Dt HERE 038 0.9[. 1
ZDfth B 1.6 1.6
ZDfth HERE 1.9 1.9(48 #
ZDih EEE 1.7 17|84
ZDith B 6.5 6.6[12, &
ZDfth 5 o 0.8 0.8
Z Dt HERE 1.1 RIS
Z Dt B 0.5 0.5#, A
ZDith B 0.7 0.7 |48 2
ZDfth RE%E 1.1 11484
Z Dt e EIE] 0.7 0.7
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